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Answer all the following questions: 20 multiple-choice questions, 5 points each.

1. When the government chooses to use resources to build a dam, these sources are
. nto longer available to build a highway. This choice illustrates the concept of

a. amarket mechanism.
b. macroeconomics.

c. opportunity cost.

d. aclosed economy.

2. Suppose that the quantity of root beer demanded declines from 103,000 gallons

per week to 97,000 gallons per week as a consequence of a 10 percent increase in
the price of root bear. The price elasticity of demand is

a.  0.60,
b.  1.40.
c. 1.97
d.  6.00.

3. The more elastic the demand for good H, the

less a sales tax will lower the price.
more a sales tax will Jower the price,
less a sales tax will raise the price.
more a sales tax will raise the price.

RO o

4. Paul runs a shop that sells printers. Paul’s business is a perfect competitor and can

sell each printer for a price of $1,000. The marginal cost of selling one printer a
day is $800, the marginal cost of selling a second printer is $900, and the marginal
cost of selling a third printer is $1,050. To maximize profit, Paul should sell

one printer a day.

two printers a day.

three printers a day.

more than three printers a day.

faoow

5. A price discriminating monopolist charges lower prices to customers with

lower quantities demanded,
higher quantities demanded.
lower elasticities of demand.
higher elasticities of demand.

oo

6.  When making loans, banks use signals such as length f time in a job and home

ownership to combat

both adverse selection and moral hazard.
neither adverse selection nor moral hazard.
adverse selection but not moral hazard.
moral hazard but not adverse selection.
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7. The free-rider problem is the inability of private provision to achicve allocation
efficiency of '

rival goods.
excludable goods.
public goods.
private goods.

/ae o R

8. In an eight-hour day, Andy can produce either 24 loaves of bread or 8 pounds of

butter. In an eight-hour day, Bob can produce either 8 loaves of bread or 8 pounds 4

of butter. We know that Andy has a comparative advantage in the production of
bread, while Bob has a comparative advantage in the production of butter.

bread and neither has a comparative advantage in the production of butter.

oo o

9. Table: William’s Total Utility ' -

Total utility from J -

Quantity Donuts Danishes
60 30

110 55

150 75

180 90

200 100

Lhofe Db e

In the above table, William eats tire-size donuts and danishes. The price of a

domut is $2.00, and the price of a danish is $1.00, William’s marginal utility from -

donuts is twice his marginal utility from danishes. William consumes for

each danish he consumes. -

1 donut.
2 dommts.

e oW

1/3 donut.

10. Heavy users of electricity argue that the uncertainty about possible damage from
global warming implies that we should not spend billions to control carbon
dioxide emissions. Environmentalists argue that uncertainty implies that we
should take strong steps to limit emissions. The electricity users

a. and the environmentalists are thinking of pollution control as investment.
b. and the environmentalists are thinking of poliution control as insurance.
¢. are thinking of pollution control as jnvestment and the environmentalists are

thinking of pollution control as insurance. R

d, are thinking of pollution control as insurance and the environmentalists are

thinking of poltution control as investment. 4

butter, while Bob has a comparative advantage in the production of bread. .

both bread and butter. 4

1/2 donut. -

10

15

120

25

130




B ol KA+ AR EAE LA SRR

i

10

15

20

25

30

11

12

13.

14.

15.

16

R TR AR -(qj&\rﬂ‘i?'?@' SERTR S
ﬂ ‘L’yH\'} \'QF Ih/ 1 ) ‘j}'u

. Once a cartel determines the profit-maximizing price,

no member has a strong incentive to cheat.
each member faces the temptation to cheat,
changes in the output of any member firm will not affect the market price.
entry into the industry by rival firms will not affect the profit of the cartel.

Ao o

. If a perfectly competitive industrty becomes a monopoly and the costs do not
change, which of the following allocation of costs and benefits applies?

The producer benefits, but demanders and society are harmed.
The producer and society are harmed, but demanders benefit.
The producers, demanders, and the society are harmed.

The producer is harmed, but the demanders and society benefit.

Ao o

Short-Term, Inc. is a corporation that will cease to exist in three years. Short-Term
will pay a dividend of $100 per share at the end of each of the three remaining
years. No additional payments will ever be made. If the annual interest rate is 5
percent, the value of a share of Short-Term stock is '

4. §250.
b. $272.
c. $288.
d. $300.

Taiwan imposes harsher penalties on sellers of cigarettes than on buyers, causing

a decrease in supply that exceeds the reduction in demand.
an increase in supply that exceeds the reduction in demand.
a decrease in demand and an increase in supply.

an increase in demand and a decrease in supply.

e op

If firm X is producing in an oligopolistic industry, when it increases its price,

a. rival firm Y will increase its market share if firm Y keeps a constant price.

b. rval firm Y will increase its market share if firm Y increases its price.

¢. the behavior of rival firm Y will have no impact on the market share of firm
X

d. the market as a whole will become less profitable,
In the new growth theory, an increase in the return to knowledge

a. implies that the real interest rate is permanently less than the rate of time
preference.

b. reduces the stock of knowledge.

reduces the stock of physical capital.

d. implies that the real interest rate is permanently greater than the rate of time
preference.
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17. According to Robert Barro, deficits with debt financing may result in =

a. worse inflation than with money financing because of expectations of
monetary financing.
b. worse crowding out if taxpayers expect more debt financing during a

recession, :
¢. no crowding out if taxpayers understand that increased current debt will
require increased future taxes and they increase saving.
d. the economy growing slower than it would with money financing,
18. In real business cycle theory, the impulse for a business cycle is

change in investment.

unexpected changes in aggregate demand.

oo

19. Celine Dion invests $100 in a 30-year bond with an annual yield of 7.5 percent. ,

Every year she will reinvest her interest income, also at an annual at the end of 7.5

percent. If inflation is 7.5 percent for each of the next 30 years, at the end of the «‘

period her investment will be worth

a. less than $100 at today’s prices.

b. $100 at today’s prices.

c. between $100 and $875 at today’s prices.
d. $875 at today’s prices.

20. Dynamic comparative advantage is the

a. ability to produce a good at a lower opportunity cost because the maker is the
first to produce it.

b. same as ordinary comparative advantage.

ability to produce a good at relatively high cost for a time.

ability to produce a good at a higher opportunity cost because the maker is

a0

the first to produce it. 4

change in the money supply. i

technological change. | 4
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2. spiral of silence (15%)
3. cognitive dissonance (15%)

10

15

120

25

30




0L

15

20

25

A ji'i«g%i'/\—]‘/\ 2 SF A A A AR
# B : SRS EBEETITeETREA [l %[ = #

R

—  BER(Stacey Adams, 1980)IE M L adisis R AEIBE &
B AHMEMABRHATATIA ¥ TR RMEHE -
1 - FE A TGRSR Filtering errors)? (10%)
2~ EEBELESERYE (20%).

= SHMABARATAELEE  do¥RBEAMBERE LK
RFEAFEZAGABANHE - 31
1 ~EAXMASE? (10%)
2~ do TR A M EAR AR A BARBES T (10%)
(AW EBFHNE R FHLBETFHH)

=~ HEeBREEE O TTHR 0 wRBETAMHA -
1~ HRNBEFROBEREEI BT - (10%)

2 BIRAMGMMZIFERTEMFMMAE? A FHSRAH -
TEFRAPIEE TR GW AL TR ? R e R ER
A K AR - (15%)

e REETARE B SARR CHFETARSEEHRENH
B adf—F@uefiaytdashmi sikiEaris
REBAEBIIENTE « 351
1~ BHESKESD B SEARFGAE? HGEE QR 5

#-(15%)
2 HHEEHE T MEDH BRERURE M RRPEE?
(10%)

G e e

470

15
A

420

25

30




10

15

20).

250

30

B35 o i K AR AR 4 A R

E9%  wem [oal #5R %] =

T OREA (M RABARMER ISR M A RN R TR
SIRERE, 7o BAEHIT2 5 BTl o)

Due to the diverse and complex nature of management, succ¢essful managers should
possess a variety of which of the fellowing skills?

a. arts and crafts

b. conceptual, human, and technical

c. analytical, athletic, and musical

d. conceptual, abstract, and human

e, technlcal, analytical, and conceptual

Project managers mahage

and give up their management responsibilities
when the project is finished.

a. vertilcally

b. diagonally

c. horilzontally

d. competitors

e, honhuman resources

Managers may perform up to ten different roles as part of their everyday job.
The roles are divided into three categories:

personal, private, and public.

interpersonal, informational, and decisicnal.
semiprivate, infermational, and public.
interpersonal, informative, and interesting.
decisional, argumentative, and disruptive.

oo

The revolution in management thinking is caused by the

modern behavioral scientists.

chaotic environment and a shift in the way people think about organizations.
government and the environmentalists.

vwomen's movement and the glass celling.

global peace movement.

0 on oW

An example of a corporate culture can be seen in

a. an object, act, or event that conveys meaning to others.

k. manners, dress, stories, physical symbols, organizatlonal ceremonies, and
office layout.

c. an assoclation made of organizaticns with similar interests for the purpose
of influencing the environment.

d. reoles assumed by people and or departments that link and coordinate the
organization with key elements of the external environment.

e. an association of people gathered together to discuss areas of disagreement.

Power distance can be defined as

a preference Lor a tightly knit social framework.

a cultural preference for achievement.

c. the degree to which people accept inequality in power among institutions,
organizations, and pecple.

d. the degree to which organizations exert power over people.

e. the degree to which pecple are comfortable standing next to other people.

ow

Ethics can be more clearly understood when compared with behaviors governed by
the laws and by

free speech.
free press.
free choice.
free food.
free thought.

1 = A o T o i
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a. Ethical dilemmas occur because

a. all legal and moral obligations have beeh fulfilled.

b. right and wrong can be clearly identified, yet it isn't profitable either
way.

¢. each choice or behavior is undesirable due to the possibility of a harmful -
ethical consequence.

4. an attempt is made for two wrongs to make a right.

e. right and wrong are clearly identifiable; each cholce or behaviocr 15 more
desirable due to the lack of any possible harmful ethical consequence.

9. is the process of initializing a business venture, organizing the
necessary resources, and assuming the necessary risks and rewards.

Intrapreneurship
Venture capital
Entrepreneurship
Franchising
Resource maturity

T oo

to. The belief by individuals that their future is within their contrel and that
external forces will have little influence is referred to as a{n)

tolerance for ambiguity.

a.
b. internal locus of control.
C. awareness of passing time.
d. external locus of control.
e, personal conflict.
11. A is a unique form of entrepreneurial company, which was previously

associated with and owes its start-up to ancther organization.

a. franchise
b. corporaticn
¢. partnership
d. spin-off
e. proprietorship
12. There are different levels of the organization and therefore there should be

different levels of the planning process. What level of the organization should
be looking at the guestion, "How to compete?"

Business level strategy
Corporate level strategy
Functional level strategy
Perscnal level strateqgy
Industrywide level strategy

(IR s e g ]

13. The competitive model lists five compétitive forces. Which of the following is
not part of the model? ' - '

a. potential new entrants

b, bargaining power of buyers

c. life cycle of your product .
d. threat of substitute products
e. rivalry among competitors

14. means that a decision has clear-cut objectives and that good
information is available, but the future outcomes associated with each
alternative are subject to chance.

Sureness
Uncertainty
Risk
Certainty
Ambiguity

(104 ¢ T v i

15. means that people have limits, or boundaries, on how rational
they can be.

Bounded irrationality
Classical bureaucratic
Classical distinguished
Bounded rationality
Administrative bureaucracy

hoanoe
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Satisfying means that decision makers choose the solution alternative
that satisfles minimal decision criteria. '

first
second
third
alternative
last

o an o

Which of the following is not an advantage of participative decision making?

More knowledge, facts, and alternatives can be evaluated.
Broader perspective for problem definition and analysis,

Member satisfaction and support for decision.

Clear focus for decision responsibility.

All of the above are advantages of participative decision making.

T AN

Despite the advantages of specialization, many organizations are moving away
from the principle. Many companies are jobs to provide greater
challenges and are even assigning teams to tasks so that employees can rotate
among several jobs performed by the team. .

reducing
enlarging
specializing
eliminating
transferring

[ P T « i ™3

is the application of behavioral science knowledge to improve an
organization's health and effectiveness through its ability to cope with
environmental changes, improve internal relationships and increase problem-
so0lving capacities,

Motivaticn

Crganlzational development
Management psychology
Systems management

Time and motion studies

o0y e

The hiring or promoting of applicants based on criteria that are not job
relevant is referred to as

affirmative action.

equal employment opportunity.
minority preference,
discrimination.
employment-at-will.

[N e s I = )

refers to the relationship between one's score on a selection
device and one's future job performance.

Reliability
Validity
Application form
Assessment testing
Exit interview

© N oo

Workforce diversity means the hiring and incluslon of people of human
qualities or who belong to various cultural groups.

the same
similar

identical
different
analogous

onoTw

The style in Hersey and Blanchard’'s situational theory is for
subordinates.

telling, high-readiness
telling, low-readiness
participating, high-readiness
participating, low-readiness
delegating, moderate-readiness

hoanT o
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In the path-goal theory, leaders increase their motivation by either
or . :

a. decreasing the subordinates' path to rewards, decreasing rewards that
subordinates value or desire

. clarifying the subordinates' path to the rewards, increasing the rewards that
subordinates value or desire

c. telling subordinates exactly what they are supposed to do, consulting with
his or her subordinates about what to do '

d. stressing higher quality performance, stressing improvement over current

pexrformance

clarifying the subordinate's path to rewards, consulting with his or her

subordinates about what to do

i}

When a union tries to improve wages and working conditions in order to be
consistent with a comparable union whose members make more money, it is using

the method for reducing ineguity.
a. change outcomes

. change inputs

c. distortion of perceptions of self

d. distortion of perceptions of others

e. none of the above

Informal communications coexists with formal but may skip hierarchical levels,
cutting across chains of command to connect virtually anyone in the
organization.

formal
infermal
vertical
horizontal
lateral

o anTw

A team that uses computer technology and groupware so that geographically
distant members can collaborate on projects and reach common geals is known as a

team.
4. problem-solving
b. wvirtual
c. technocratic
d. quality circle
e, groupware

What 1s the proper order of the stages of team developmeant?

storming, norming, forming, performing, adjourning
adjourning, storming, norming, forming, performing
performing, steorming, norming, forming, adjourning
forming, storming, norming, performing, adjourning
forming, norming, storming, performing, adjcurning

han o e

control is the use of rules, policies, hierarchy of authority,
written documentation, reward systems, and other formal mechanisms that
influence employee behaviors and enhance performance.

Bureaucratic
Decentralized
Peer group
Self
Individuality

¢ an o

The budget process is concerned with

whether budgets meet thelr goals.

how budgets are actually formulated and implemented.
who gets the budget reports.

how much over- or under-budget the organization is.
what budget the organization is following.

04N oo
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>> T asked him if he’ll respond to calls for a bombing (1)halt for Easter.

>>> [ hate the idea of having to continue this campaign during this period, but [ hate
mote the idea that we would walk away from this campaign while he continues to
clean out house after house and village after village and kill a 1ot of innocent people.
(2) That would not serve to honor the occasion.

>> Mr. President. There are reports, as we speak and through this evening, that there
will be air attacks in Belgrade itself. Is that correct?

>>> It is accurate that we are attacking targets that we believe will achieve our stated
objective, which is either to raise the price of aggression to an unacceptably high level
so we can get back to talking peace and security, or to substantially undermine the
capacity of the Serbian government to wage war.

>3 Would that include attacks now in Belgrade? Have you authorized the military to
go downtown?

>>>T have authorized them to attacks that I believe are appropriate to achieve our
objectives. We worked very hard to minimize the risk of (3)collateral damage.

>> This afternoon, [ had an exclusive interview with the Yugoslavian Foreign
Minister. Among other things, he twice (4)flatly denied that his army has taken any
Albanian villages. .

>> Is it frue or untrue that Yugoslav forces have move into two Albanian villages,
clearly across the border into Albania?

>> It is not true. This is a kind of (5)fabrication to present Yugoslavia as not
constructive country. What is true, it is today the fourth (6)conseeutive day that
Yugoslav territory has been under aggression from Albanian territory.

>> I want to make sure I understand. Is it not true that the Yugoslav army took these
villages?

" >> Tt is not true.

>> Tell me, Mr. Foreign Minister what it is that you believe Americans don’t know
about this sitvation that it is vital for them to know?

>> First of all, many of them don’t know even where this country is. They, for
instance, don’t know that this is peace-loving country. The preblems in Kosovo and
Macedonia have never been (7)in the sphere of human rights or the rights of national
minorities. It has been for some time now the problems (8)emanating from terrorism

115

10

{20

25

130,




25].

2

ﬂ

B S bk A A S A 8 A R

H: %L A5% #5787

and (9)separatism. Certain power greedy leaders of Albanian communiiy in Kosovo
and Macedonia came up with a program of separation to take Kosovo and Macedonia
out of Serbia and to take it by arms. _ ‘ '

>> President Clinton in a recent interview that I did with him disputes this. And he
said most forcefully from his point of view this was going to happen and that we,
-meaning the United States and NATO, stepped in to do our best to stop it. What
you've outlined to me is the direct opposite of that.

>> Mr. Clinton is number one responsible for this aggression, and there are no
(10)justifications at all for destroying this country, for killing people all over
Yugoslavia. How can one justify, let’s say, ruining schools, hospiials, ruining roads?
Only yesterday they have destroyed six bridges in Yugoslavia. How to justify
bombing the bridge with civilian international passengers train killing instantly 11
people, wounding about 20 people.

= RAENERE T (2047)

.

Regulation may be imposed simply by enacting laws and leaving their supervision to
the normal processes of the law, by setting up special regulatory agencies or by
encouraging self-regulation. Except where regulation is necessary to prevent the abuse
of monopoly power, in the interests of preserving health and safety ot to correct
externalities or other instances of market failure, there is a risk that the compliance
costs and other costs of regulation may exceed the social benefits.
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